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Q.25 If the English alphabets are

Q.26

Q27

Q.28

written in In reverse order Z to A
In a row then which will be the 4th

letter to the left of 20th letter from
right.

(1P

) Q
) W
4) vV
In the following letter series how
many P are proceeded

immediately by R but not
following immediately by S-

PQSRMPMSRPSRPTQPMRPNRPS
(1) One

(2) Two

(3) Three

(4) Morethanthree

if the letters of METROPOLITAN
are arranged alphabetically then
which letter will take place at 7th
Position from the right side.

(1) N
(2) M
(3) L
4) P
What will come in place of the

question mark (?) in the following
letter-number series.

M3, 05,R7, T9,W11,?
(1) Z13
(2) X13
(3) Y13
(4) X15

0.25

0.26

U.27

0.28

o il & avtaTen B 3R 7 A 23
A 7@ Ue U @ foren oe & ¥
3 20 & avf @ ard 3R @ e vt By

|1 Em |

(1) P

2) Q

(3) W

4) vV

A & o e ooft 3 UF P b 2
Ry &% Ugat R & Teg 8% aC # S
a8 -
PQSRMPMSRPSRPTQPMRPNRPS
(1) @

@) @

(3) dia

(4) o X s

a® METROPOLITAN 3 el @l
IIATCT & AR Ao BE ot a1
R & Haal JERFME ?

(1) N

2) M

3) L

(4) P

A & o avi-aie siwen & v Rig
(?) & FImeT U2 T SR ?

M3, 05,R7,T9, W11,?

(1) 213

(2) X13

(3) Y13

(4) X15
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Q.32 .32
14 ? 26 14 ? 26
9@19 13@27 17@35 9@19 13@27 1735

6 8 C
(1) 18
(1) 18 2) 2
2) 24 N 20
(3) 20 ) 2
(4) 22
Q.33 W.33
6 5 3 8 5 3
O oo [ (e
4 9 8 4 9 8
(1) 10 (1) 10
(2) 1 2) 11
(3) 14 3) 14
(4) 12 (4) 12
Q34 7.34
1 6 10 1 6 10
@ @ {0 BroC)e
3 8 11 3 8 1
(1) 40
2) 42 (1) 40
(3) 36 (2) 42
(4) 90 (3) 36
4) 90
10

4J
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a.3%
2 1 2
OEOEO!
3 3 10
(1) 6
(2) 8
3) 12
(4) 18

pirections : (Q.36t0 40)

in the following diagram there are three
intersecting circles each representing
certain section of people. Different
regions are marked a to g. Read the

J)pﬂ.%\

.35

2

1 ?
3
@8 2@5 414
. 3 10
(1) 6

(2) 8

3) 12

(4) 18
mﬂ@.asﬁm)
1 R Rt 3 g e e B, o B
I A Bed ¥ g @t @ wrF oot @

T & | SE-3em A B2 A g dB
I 7 &1 gt 3 Ry o we B w v

statements in questions and choose the | 3¥ T & o & T 3 aRfq At @ agrian
letter of the region which correctly | 2-
represents the statements
b b
Teache 6 Q

Q36 Teachers who are players butnot | W.36 3ETUS o G et & ey Rt 2 1

singers.

(1) a

(1) a ) b

2) b 3)

4) d

11
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if A means minus, B Meang

ad? Lvided by, C means plus ang W42 o A @ 3 v, g o ik o, C B
p means multiplied by. Whep ¥ &g dar D @ Fd qm A A
1583C24A12D2s equal to:- 15B3C24A12D2 @1 A1t &~
(1) 2 (1) 2
(2) 5/9 (2) 5/9
(3) 34 (3) 34
(4) 5 4) 5

043 Ina certain code 'COMPUTER' is U.43 aﬁ- Eﬂﬂ ma}ﬁﬂi AT ﬁ
written as RETUPMOC. How is 'COMPUTER' @ RETUPMOC feram
MEDICINE written in that code? WE f 32t s # MEDICINE & 5

TR feriy 7
(1) ENICIDEM (1) ENICIDEM
(2) EMIDICEN (2) EMIDICEN
(3) NECIDEMI (3) NECIDEMI
(4) DICINEMED (4) DICINEMED

Q44 Inacertaincode'POLICE-MEN'is | ¥.44 3R foft Jidfoe smw & 'POLICE-
written as ONKHBD-LDM. How is MEN' & ONKHBD-LDM feram e -
HINDU-MUSLIM written in that a 3 o # HINDU-MUSLIM &
code? e v ferfar 2
(1) MILSUM-UDNIH (1) MILSUM-UDNIH
(2) IJOEV-NVTMJN (2) IWJOEV-NVTMJN
(3) GHMCT-LTRKHL (3) GHMCT-LTRKHL
(4) NVTMJN-VEOJI (4) NVTMJIN-VEQJI

Q.45 The Pillars has to be erected on W45 T . T A T o S & 1A
10 km road at equal distance of 500 #fto @ i W vH e
500 metres. How many Pillars are T 2 ar I 3 fbet T et |
erected in thatroad? () 20
(1) 20 2) 2
@) 21 (3) 19
(3) 19 @) 22
(4) 22

W
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Scanned by CamScanner



Directions : (Q. 46 to 51)

A cube with side of 4cm which Is
coloured in red. Small cubes are cutted
with size of 1cm from that cube. Answer
the following questions.

Q.46 How many small cubes are to be
cutted out?

(1) 4

(2) 16

(3) 32

(4) 64

How many times that cube is
cutted out?

(1) Onetime

(2) Fourtimes

(3) Eighttimes

(4) Ninetimes

How many small cubes will be
whose three faces are coloured?
(1) 4

(2) 8

(3) 12

(4) 16

How many small cubes will be
whose two faces are coloured?
(1) 24

(2) 30

(3) 32

(4) 12

How many small cubes will be
whose only one face is coloured?
(1) 12

(2) 24

(3) 30

(4) 32

Q47

Q48

Q49

Q.50

foder (w. 46 ¥ 51)

U3 TR Adfl. o A 0 B A @ & T
¥ 35d A vp A, oo TQ B 0 R A }
frsaferfra weat @ 3z a

W.46 o fpaat B a e 0 ?

(1) 4

(2) 16

(3) 32

(4) 64

ud @ fbdelt aR FA IAT?
() T

3) 338 9

.47

0} fraa R ga ura anl foeet
e wag W & ?

(1) 4

2) 8

3) 12

4) 16

U f5ae B¢ ua ua 2t Rest @
Jag Wt @

(1) 24

(2) 30

(3) 32

Qﬁ%\tﬁ%mmaﬁﬁaﬁw
TaE it & ?

(1) 12

(2) 24

(3) 30

(4) 32

U.48

0.49

9.50

%
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" oW many cubes will be whose
a# Loface Is coloured?

(1) 8
(2) 10
(3) 12
(4) 16

pirections . (Q. 52 to 55)
A dice has peen shown in four different

itions. On the basis of these positions

find out the face as asked in the

quastion.

SRS

Q.52 Whichnumberis oppositeto1?
(1) 2
(2) 3
(3) 4
4) 5
Q.53 Which number is opposite to 27
(1)1
(2) 3
3) 4
4) 5
Q.54 Which number is opposite to 3?
(1) 2
() 4
(3) 5
4) 6

——

-~ n —

51 U P o w g e I8 o
dag @t g adi 2 ?

(1) 8
(2) 10
(3) 12
4) 16
frder @ 52 & 55)
0F TR B AR sew-aem R & gan

T ¥ 3o Rafdt & @R v # g8 T
HdE §1d BT |

YOO

U052 @ TG 1 B Awdd AR E?
(1) 2
2) 3
(3) 4
(4) 5
U.53 O AT 3 2 B Audd AR E ?
(1) 1
(2) 3
(3) 4
(4) 5
Y54 @G 3B 3 B Auda AT §?

(1) 2
(2) 4
3) 5
(4) 6
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Directions : (Q. 64 to 65)

In each of the following questions which
number will be at the space where sign
of interrogation is placed.

Q.64
(1) 19
2) 22
(3) 33
(4) 45

3 0@ @
(1) 7
(2) 12
(3) 16

(4) 25

Directions : (Q. 66 to70)

A series of small letters is given which
follow a certain pattern. However some
letters are missing from the series. You
have to find out the right set of letters
from the given alternatives that can be
inserted into the blanks of the series.

Q.66 _aba_abaa_baa_ba
(1) bbbb
(2) abbb
(3) aaaa
(4) baaa

Q.65

forder (. 64 A 65)
Rreafifira weat & wemaras REa @ @
W PRt dwar amuan

U.56

(1) 19
(2) 22

5257 3a
(3) 33 Vv
(4) 45 ? |17

x
® 0@ @

(1) 7

(2) 12

(3) 16

4) 25
foder . 66 A 70)
3TeT qUiATeT B BiE et B Ub TN o
7 2, i v fofdad mw F 31 7B IR
g A T 21 et @ Ua FE Ae oA

fe v Reedt & & oite, e R =
@ o & o 3B

U.65

5.66 _aba_abaa_baa_ba

(1) bbbb
(2) abbb
(3) aaaa
(4) baaa
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rgctions (Q.741075)
Di ne of the answer figure would

ho
whic the next position in the problem

;czlr'e if they continue to change in
g L)

game orde”
q74 ProblemFigure

o nm

Answer Figure

Nl

w @ @ @

Q.75 Problem Figure

TN /7-'* N
C

Answer Figure

C . ]ﬂ)’ r\./\"
VoAt L/& /A v
- ks o =

) @ @ @

foder (w. 74 & 75)
aﬁama@ﬁwﬁﬁaa
I g W gw g & & B
gl fa zama et

W74 We il

ar
@

n @ e @

R L SR O L e &
okl R J
‘\- . o, v
5 £
i ¥ i
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Q.85 REHEARSAL
(1) RARELY

(2) EARLIER
(3) SERIAL
(4) HEARSE
Q.86 DETERMINATION
(1) TENSION
(2) DEBATE
(3) TERMINATE
(4) NATIONAL

Q.87 'Fish'is related to 'water' in the

same way as 'Bird’ is related to:
(1) Water

(2) Sky
(3) Food
(4) Air

Q.88 'Soldier is related to 'Army’ in

the same way 'Pupil’ is related
to-
(1) Education

(2) Teacher
(3) Student
(4) Class

'‘Medicine' is related to 'Patient’ in
the same way 'Education’ is
related to:

(1) Teacher
(2) School
(3) Student
(4) Tuition

Q.89

U.85

V.85

u.87

u.88

¥.89

REHEARSAL Qi

(1) RARELY
(2) EARLIER

(3) SERIAL

(4) HEARSE
DETERMINATION
(1) TENSION

(2) DEBATE

(3) TERMINATE
(4) NATIONAL \

R woRr ool widt ¥ FeEd 8,
=N yor uelt @ F€g @ :

=

(1) o

(2) 3

(3) #itow

(4) Ty

R ver A”E &1 Fdg AT A B
3 yBR e & Fewe B-

(1) Trem

(2) 3reus |
(3) feremeft
(4) am

R YR qars @ Fewem e A B
3y f¥em o Fewe B

(1) 3eas
(2) Temea
(3) feremeft
(4) gua

—_——— e —e——————— e
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Q.91

Q.92

Q.93

PART-II

W

SCHOLASTIC APTITUDE TEST

AfAD erar g e

Questions: 91 to 180

We do not feel the atmospheric

pressure because

(1) Itis smallin magnitude

(2) In does not act on us. It only
acts on atmosphere.

(3) Ourinternal pressure is equal
to the atmospheric pressure.

(4) Itdoes notactatsealevel.

The frequency of a source of

sound is 15 KHz. The frequency

of sound wave produced in
water and air will

(1) Besame asthatofsource

(2) Bedifferentin air & water and
frequency in water will be
more than that of air.

(3) Be different in air & water
and frequency in air will be
more than of water.

(4) Depends upon velocities of
sound in these media.

The Pin-hole camera works on

principle of:
(1) Rectilinear propagation of
light

(2) Refraction of light
(3) Reflection of light
(4) Highestspeed oflight

.91

9.92

¥.93

&3 AIHvSCH Y <aTd B HGHd F@I Bl

2 [if ?

(1) TEagd & FA BT 8 |

(2) TE EAR FW J& qorar &1 Tg
R argeved @R coraT 2 |

(4) & TS oot W AL} I & |
US @ Fq 15 KHz 3gfa @t afer

I B § | 3w eafel B g
arg qdn o &

(1) @ oia @t agfa & Fda
|
(2)

(4) 3 qar AmeHAT A eafer B Qo
W foefy wwft

- dewr fow Rrged w o

T 8 ?

(1) WaIer I & & gear B

(2) WHIT P Nqada

(3) UHIY H Wadd

(4) vy @t afe & sfEaH B

e
26
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Q179 Which is the Article of |y, wfum @ foa Fex @ &7

Constitution States that o
intouchablity has been abused? B gaE HT fear I X

(1) Article 16 (1) 3qex 16

(2) Atticle17 (2) 3qex 17

(3) Aticle18 (3) 3K 18

(4) Article 28 (4) IR 28
Q.180 Who appoints the Chief Justice | g 150 s & 7z w3 Fgle

ofIndia? a7 oo 37

(1) The Prime Minister of India (1) Rk

(2) ThePresidentofIndia (2) W @ gt

(3) The Vice President of India (3) #RA @I IRt

(4) ChiefMinister ) T F3t

Rough Work % HE
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